12"-1" | DN15-DN25 | CLASS 150/300/PN 40

Floating Ball Flanged

Valve dimensions

S

o Ball port —— 1

Preparation
for actuation

~—B

without nut with nut

Stem flats
show valve
ball position

TxL thread

FPCD <N thread

Weight kg/lb | Kv

150 | 300 | Cv
DIER mm 143 108 140 47 3140/ 405 94 151 89 95 554 114 | 6.65/(F03) 36 M5x10 18 23] 28
" inch| 056 425 551 185 125 159 370 595 350 3.74 022 UNF2A"| 026 142 4] 51| 32
PL\POR mm 206 117 152 57/ 3820 556 1035 170 98 1171754 1"-14 74/(F04) 42 M5x10 22 33 46
¥a" inch 081 461 598 224 150 219 408 669 386 461 030 UNF2A" 0.29 1.65 48 73 53
PIPER mm 254 127 165 62 42700 60.3 108 170 108 124/ 754 114 74(F04) 42 M5x10 32 46 80
1" inch, 100 500, 650 244 168 237 425 669 425 488 030 UNF2A"| 029 1.65 7, 101 93

Weight kg/Ib

F1 F4
DI mm 143 130) 115 48 3150 405/ 986 151 95 554 114 6.65 (FO3) 36 M5x10 2.2 2.1 28
”" inch 056 512 453 189 124 159 388 595 374 022 UNF2A" | 026 142 4.8 46 32
BLPOE mm 206 150/ 120 58 3830 565 105 170 105/ 754 1"14 74 (FO4) 42 M5x10 32 3 46
¥a" inch 081 591 472 228 151 222 413 6.69 413/ 030/ UNF-2A" | 0.29 1.65 7 66 53
DIPER mm 254 160 125 635 41.80 61 108 170 115] 754 1"14 74 (FO4) 42 M5x10 4.2 4 80
1" inch 100 630 492 250 165 240 425 6.69 453 030 UNF-2A" | 0.29 1.65 9.2 88 93

316 | FEDHABONIM | INDUSTRIAL VALVES




12"-1" | DN15-DN25 | CLASS 150/300/PN 40 @

Floating Ball Flanged

Components & materials

Item | Description

Acc. Ordering Code

Material specification

A351 CF8M, A216 WCB, A351 CN7M, A494

Acc. Ordering Code

Acc. Ordering Code

Acc. Ordering Code

PTFE

Acc. Ordering Code

Stem thrust seal

VIRGIN PEEK, PCTFE (KEL-F)

Anti-abrasion ring  VIRGIN PEEK, PCTFE (KEL-F)
Stop pin S. Steel

Stem seal CF PTFE, TFM

Follower S. Steel

e N L IS O NS Y IS O S N

Item | Description

1[0.84 Slide bearing

S. Steel

Material specification

([“88 Handle

17/ Sleeve

PL) Anti-static spring

vJ 8 Anti-static plunger

S. Steel

1

1l Disc spring S. Steel 2
(P2 Stem nut S. Steel 1
(B Locking clip S. Steel 1
S. Steel 1

153 Serrated washer S, Steel 1
1[5 Handle nut S. Steel 1
PVC 1

S. Steel 1

1

1

vEf 1 Tag (not shown)

S. Steel

* Repair kit components

INDUSTRIAL VALVES | (EDHABONIM | 317




VAl 1'/-"-2" | DN40-DN50 | CLASS 150/300/PN 40

Floating Ball Flanged

Valve dimensions

H
D
P HIN
C Vi N
H —
Preparation
B for actuation
A
N
2 2" 1"
oW —f—d4—- S B AB U without nut with nut
M Ve Stem flats
< show valve
N ball position
TxL thread <N thread
FPCD

A B Weight kg/Ib
C ) TxL
150 | 300 | 150 | 300 150 | 300

PLEPE mm 318 140/ 178 59 - 49.00 731 1205 2201 115 135/8.71 %' UNF 85/(F05) 50 Méx12 - - -
(WA inch 125 551 700 232 - 192 287 474 866 453 531034 " 033 1.97 = = =
PLZOE mm  38.1 165/ 190 97 110 4830 778 124 2201 127) 156|871 %' UNF 8.5/(F05) 50 M6x12 66 9.8 220
WA inch 150 650 750 3.82 433 190 3060 488 866 500 614034 " 0.33 1.97 145 215 255
SLEOEmm 50 178 216/ 109 141 7000 88 1342 220.1 152]  165/8.71 % UNF 13.5/(F07) 70 Vi8x12 13] 15 430
2" inch 200 700 850 429 555 275 346 528 866 598 650034 0.53 2.75 286 33 499

Weight kg/Ib
DLEPE mm 318 180 130 56 49.00 73 1214/ 2201 1401 871 %' UNF 8.5 (FO5) 50 M6 2 - - -
(W8 inch 125 7.0 511 220 192 287 478 8.66 551 034 ° 033 1.97 = = =
DLEZOE mm 3871 2000 140 659 4830 778  124] 220.1 150/ 871 %' UNF 8.5 (FO5) 50 M6x12 109, 103| 220
- inch 150 787 551 259 190 3060 488 8.66 591 034 ° 033 1.97 24 227 255
DN50 Japlgy! 500 230 150 607 78.00 119] 1373 2201 165/ 871 %' UNF 13.5 (FO7) 70 MSx12 15 13 430
2" inch. 200 906 591 239 3070 469 541 8.66 650 034 ° 0.53 2.75 33 286 499

318 | FBDHABONIM | INDUSTRIAL VALVES




P&l 17/:'-2" | DN40-DN50 | CLASS 150/300/PN 40  [KiSH

Floating Ball Flanged

Components & materials

19

Item | Description

Material specification

Item

Description

Material specification

Acc. Ordering Code 1 K Disc spring S. Steel 2
Acc. Ordering Code 1 (P2 Stem nut S. Steel 1
Acc. Ordering Code 1 13 Locking clip S. Steel 1
Acc. Ordering Code 1 (5 Handle S. Steel 1
Acc. Ordering Code 2 153 Serrated washer S, Steel 1
PTFE 1 1[5 Handle nut S. Steel 1
Acc. Ordering Code 1 A Sleeve PVC 1
Stem thrust seal  VIRGIN PEEK, PCTFE (KEL-F) 1 155 Body bolts S. Steel 4
Anti-abrasion ring  VIRGIN PEEK, PCTFE (KEL-F) 1 {2 Body nuts S. Steel 4
Stop pin S. Steel 1 100 Anti-static spring | S. Steel 1
Stem seal CF PTFE, TFM 1 4 Anti-static plunger | S. Steel 1
Follower S. Steel 1 vEf 1 Tag (not shown) S, Steel 1
10,88 Slide bearing S. Steel 1 * Repair kit components

INDUSTRIAL VALVES | (E)HABONIM | 319




2'4"-8" | DN65-DN200 | CLASS 150/300

3"-8" | DN80-DN200 |PN 16 WA 2'>" | DN65

Floating Ball Flanged

Valve dimensions

| PN40

‘ S

|
A
| \\ v
0]
@W.I_ e o——— _¢_ _____ FbHABONlM)::
(@]
i i N
ZT><Lthread —
FPCD

B
150 | 300 | 150 | 30

73 74 2>"-8"
s w
150 | 300

2 Ball

M M-DD N

Preparation
for actuation

PN

Stem groove
shows valve
ball position o

N thread -
1"-14 UNS-2A

Square

Weight kg/lb

™ "50 | 300

SUANMN inch 256 748 948 326 - | 476 651 767 1575 708 748 074 063 UNS2A 066 202 MO0 e
DI mm 80 203 2825 775 94, 108 1546 1948 400 191 210 189 150 114 | 167(FI0) 102,00 22 282 1111
EQN inch 320 799 1112 305 380 425 600 767 1575 752 827 074 063 UNS2A 066 402 485 622 1300
DI mm. 100 2285 3048 845 1045 124 1705 211 610 230 254 189 150 114 | 167(FI0) 102,00~ 39 445 2051
FUR inch 394 000 1200 333 411 488 660 831 2402 906 1000 074 063 UNS2A 066 402 86 981 2400
BIFEd mm 150 394 4035 1635 1745 179 2485 308 9l6 2794 308 2845 2375 1412 262 (FI12 125 o o0 82 100 4615
A inch 591 1551 1589 644 687 705 978 1213 3606 1100 1291 112 094 UNS2A 103 49 1808 2205 5400
DIPIId mm 200 4572 502 2425 241 241 3537 - | - | 460 4603592 3592 28 | 375(F14 140, . 190 205 7949
O inch 787 1800 1976 955 949 949 1993 - | - | 1811 1811 141 141 UNS2A 148 551 4189 49 9300

A_16/40

F5/F1 F4 40

C_16/40/D_16/40, H

78 25" 77 3"-8"
S W_16/40

M |M-DD

Weight kg/lb

XL ES T Fg

SUANM inch 256 - 669 326 275 468 651 767 1575 728 074 063 UNS-2A | 066 20| MOXO = s

DM mm 80 - 180 775 - | 10800 162 1948 400 200 189 159 1%4 | 167 (FI0) 102\ oo - 24 1]
EQ inch 320 - 700 305 - 425 640 767 1575 78 074 063 UNS2A 066 402 ~ 528 1300
NI mm 100 - 19 845 - | 13200 186 211 610 205 189 159 1%4 | 167 (FI0) 102 oo - 30 205]
PO inch 304 - 748 333 - 500 732 831 2402 88 074 063 UNS2A 066 402 ~ 66 2400
BEdmm 150 350 - 1635 - | 17800 236 308 916 328 2845 2375 1412 | 262 (1) 125\ o 63 - 4615
M inch 501 1378 - | 644 - 701 929 1213 3606 1291 112 094 UNS2A 103 492 130 - 5400
GIPL0) mm| 200 400 - | 2425 - | 22600 286 - | - 395 3592 3592 2°8 | 375 (FI4) 140\ oo 07 - | 799
O inch 757 1575 - | 955 - 891 1126 - | - | 1555 141 141 UNS2A 148 551 23 - 9300

320 | FBDHABONIM | INDUSTRIAL VALVES




2'4"-8" | DN65-DN200 | CLASS 150/300

3"-8" | DN80-DN200 |PN 16 WA 2'>" | DN65 | PN40

14B 16 14 17

Floating Ball Flanged

Components & materials

Item | Description

Material specification

Acc. Ordering Code

Qty.

Acc. Ordering Code

Acc. Ordering Code

Acc. Ordering Code

Acc. Ordering Code

PTFE

Acc. Ordering Code

Stem thrust seal

VIRGIN PEEK, PCTFE (KEL-F)

Anti-abrasion ring

VIRGIN PEEK, PCTFE (KEL-F)

Stop pin

S. Steel

Stem seal CF PTFE, TFM

Follower S. Steel
110,82 Slide bearing S. Steel

Disc spring S. Steel

[ NG IS L N N N P N NG T P N N N

& ik

Preparation
for actuation

T

Item | Description Material specification

(P2 Stem nut S. Steel
(] Tab lock washer | A240 304
(7588 Handle S. Steel
1278 Stop plate S. Steel
(218 Wrench head S. Steel
1[5 Wrench bolt S. Steel
VA Sleeve PVC

1£:88 Bodly bolts S. Steel 812
LI Anti-static spring | S. Steel 2
74 Anti-static plunger | S. Steel 2
vEf 1 Tag (not shown) S, Steel 1

* Repair kit components
** Gear operator should be used for size 8" DN200 (handle components are not included)

INDUSTRIAL VALVES | (EDHABONIM | 321




H B @R ED

Floating Ball Flanged - Ordering Code System

Sl

"Mandatory option" options are marked with |gréenbackground | "Standard offer" options are marked with light green background

1 2

[6][0]
N

3 4

Code
05

5
LI

Features

-
Size (1-2)

inch

07

10

12

15

20

25

30

40

60

80

3" 80

4" 100
6" 150
8" 200

Features (3-6)
Fire safe

Control service

Clean assembly for O2 service

Ammonia service

Chlorine service

Vacuum service

Hydrogen service

Series (7-8)
ANSI #150 std. port

ANSI #300 std. port

ANSI #150 full port

ANSI #300 full port

DIN PN 16 full port

DIN PN 40 full port

Design (9)

Total HermetiX Integrity
package

Total HermetiX Integrity
package - FDA compliant

Body/Ends material (11-12)
S. SteelCF8M/CF3M

C. steel

Hasteloy-C22

254SMO

Duplex

Low Temp C. steel

Bronze

Super Duplex

Monel

Alloy-20

N>NX=©vowusso

Hasteloy-C276

322 | FBDHABONIM | INDUSTRIAL VALVES

7 8 9 10 11 12 13 14 15 16 17
Fl [ZIBIIw ] - [ells] [elle] [A ][ T J[ 6 |
(2 2 A U A U S

Series [ Design Body/end Ball/Stem Seat Inner Seal Outer Seal
material material material il material material

Ball material (13)
S. SteelCF8M/CF3M
High Strength S. Steel
Hasteloy-C22
254SMO
Duplex
Bronze
Super Duplex
Monel
Alloy-20
Hasteloy-C276

N>Nx-=0wnszo

Stem material (14)
S. Steel316L

High Strength S. Steel
Inconel 718 B637
Alloy-C22 B574
254SMO A479
Alloy-20 A351 CN7M
Duplex A479
Super Duplex A479
Monel
Hasteloy-C276

NN X 0O >»W0nsNZO

Seat material (15)
TFM
CF PTFE
CF PEEK
Virgin Peek
UHMWPE
PCTFE
Delrin
PVDF

s <ncr = 79>

PTFE

Inner Seal Material (16)
PTFE
TFM
Expanded graphite
UHMWPE

Viton

NBR

Outer Seal (17)

Expanded graphite
TFM

18 19 20 21 22 23 24 . . 30
L]l - IO 0N
N J N '

End

Special
features

End Connection (19-22)
Welded ends

connection

Special Features (24-30)

Ball with Upstream Relief Hole

Self Relief Seat

Jacketed valve- number of

ports (2), type (NPT)
and size (14")

Valve Special Stem Seals

FDA Compliant, Stem seal,

Virgin Peek thrust and TFM, X

shape, gasket

High Cycle service

Face To Face sizes

F4 - DIN 3202-1 RF (2" - 4")

F1-DIN 3202-1 RF (15" -2")

F5-DIN 3202-1 RF (6"

*  Standared offer: 15" to 14" & 215" to 4"

** Standared offer: 114" & 2"

*** Standared offer: 6"

P250
SRS

J2NO5




